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QUESTIONS FOR AN EXAMINATION ON

COMPETENCE IN BASIC ALGEBRA

ANSWERS

I. GRAPHING FUNCTIONS AND LINES


1)






2)


3) Slope is 5/2.

4)
a) 
(1, 2):  2(1) + 3(2) = 8 ≠ 5.  Thus (1, 2) is not on the line.


b)
(1, 1):
2(1) + 3(1) = 5.  Thus (1, 1) is on the line.


c)
(-2, 3):
2(-2) + 3(3) = 5.  Thus (-2, 3) is on the line.


5)









6)






7)

8)
The slope is 10/3.

9)
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10)






11)


12) a) (1, -1):  3(1) - (-1) = 4.  Thus (1, -1) is on the line.

 b) (3, 5):  3(3) – 5 = 4.  Thus (3, 5) is on the line.

 c) (2, 4):  3(2) – 4 = 2 ≠ 4.  Thus (2, 4) is not on the line.

13) The slope is 2/7.

14)
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15)


16)







17)
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II.
SIMULTANEOUS LINEAR EQUATIONS

1)
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2)
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3)
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  ; This system has no solution (the lines are parallel).

4)
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6)

[image: image13.wmf]x

y

3

1

3

5

+

-

=

 ; 
[image: image14.wmf]÷

ø

ö

ç

è

æ

-

=

10

1

,

10

47

)

,

(

y

x


7)  
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  ; This system has no solution (the lines are parallel).
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9)
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10) 
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  ; This system has no solution (the lines are parallel).

III.
OPERATIONS WITH EXPONENTS
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IV.
GENERAL QUANTITATIVE SKILLS ASSESSMENT 

	1) 6/19
	3) 75%
	5) –0.00024
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V.
FRACTION, EQUATIONS TO SOLVE WITH ONE UNKNOWN, AND OTHER TUNE-UP EXERCISES
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